
SAP ABAP table VN1PLZY {IS-H*MED: Cycles with NTPZ reference}

VN1PLZY

MANDT [CLNT (3)]

EINRI [CHAR (4)]

ZOTYP [CHAR (3)]

TARIF [CHAR (2)]

ZUTAR [CHAR (2)]

T000

MANDT [CLNT (3)] VN1PLZY-MANDT = T000-MANDT 0..N

0..N

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]
 VN1PLZY-EINRI = TN01-EINRI 

0..N

0..N
TNK01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

KATID [CHAR (2)]

 VN1PLZY-TARIF = TNK01-KATID 

0..N

0..N

 VN1PLZY-ZUTAR = TNK01-KATID 

0..N

0..N

TNT0

MANDT [CLNT (3)]

EINRI [CHAR (4)]

ZOTYP [CHAR (3)]

 VN1PLZY-ZOTYP = TNT0-ZOTYP 

0..N

0..N


